Potencias de 10 (I)

Calcule los siguientes productos y cocientes.

371000

92 =-1000

76 < 1000

29 x 1000

301000

57 x 1000

771000

81 x 1000

6 = 1000

68 x 1000

64 x 1000

21000

22 x 1000

70 x 1000

82 x 1000

13 +1000

21000

64 x 1000

91 x 1000

151000
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Potencias de 10 (I) Respuestas

Calcule los siguientes productos y cocientes.

37 21000
0,037

92 = 1000
0,092

76 x 1000
76.000
29 x 1000
29.000
301000
0,03
57 x 1000
57.000
771000
0,077
81 x 1000
81.000
6 - 1000
0,006

68 x 1000
68.000

64 x 1000
64.000
21000
0,002

22 x 1000
22.000

70 x 1000
70.000

82 x 1000
82.000
13+ 1000
0,013
2+ 1000
0,002

64 x 1000
64.000

91 x 1000
91.000
15 = 1000
0,015

MatesLibres.Com




